Tableaux des Puissances de Dix (D)

Divisez le nombre de la rangée par celui de la colonne.
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Tableaux des Puissances de Dix (D) Solutions

Divisez le nombre de la rangée par celui de la colonne.

+ 90 000 90 9000 900
3,98 0,00004422 | 0,04422222 | 0,00044222 | 0,00442222
2,18 0,00002422 | 0,02422222 | 0,00024222 | 0,00242222
1,98 0,000022 0,022 0,00022 0,0022
5,08 0,00005644 | 0,05644444 | 0,00056444 | 0,00564444
4,79 0,00005322 | 0,05322222 | 0,00053222 | 0,00532222

+ 50 000 500 5000 50
4,54 0,0000908 0,00908 0,000908 0,0908
7,56 0,0001512 0,01512 0,001512 0,1512
2,88 0,0000576 0,00576 0,000576 0,0576
9,38 0,0001876 0,01876 0,001876 0,1876
1,72 0,0000344 0,00344 0,000344 0,0344

+ 90 900 90 000 9000
1,78 0,01977778 | 0,00197778 | 0,00001978 | 0,00019778
9,71 0,10788889 | 0,01078889 | 0,00010789 | 0,00107889
4,24 0,04711111 | 0,00471111 | 0,00004711 | 0,00047111
2,04 0,02266667 | 0,00226667 | 0,00002267 | 0,00022667
3,49 0,03877778 | 0,00387778 | 0,00003878 | 0,00038778

+ 5000 50 50 000 500
4,39 0,000878 0,0878 0,0000878 0,00878

5,8 0,00116 0,116 0,000116 0,0116
1,76 0,000352 0,0352 0,0000352 0,00352
2,94 0,000588 0,0588 0,0000588 0,00588
8,16 0,001632 0,1632 0,0001632 0,01632
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